AR AR THE SN BTES YMMLER
S JHEAMER RIS EHFH
Sl SRIXITE HLAIRT S (9] H1)
AR 2N - FB.O9(3) - NIRAY - BAS Ofl ko i fimE==t
SZ=F LM 309,919 110,959 198,960
s 134,300
= 175,619
NLAET RXS FHFZ 280,600 82,300 198,300
s 134,300
& 146,300
SHRAXIFE JHEAISE L & 280,600 82,300 198,300
2 134,300
& 146,300
SsX 883t =4 46,300 47,300 A1,000
201 B2 AH| 26,800 26,800 0
01 AtR2teltl 26,800 26,800 0
OF X=Xl X239 2 4,800
QMEAMSAIET XIE S ENRX SHS 10,000
O=C0I&H3| S HLAIS 2t AL JHE 12,000
202 o4 10,000 10,000
01 =LH4b] 10,000 10,000
O=3U2 Iy EXsXl =8 10,000
301 LetENZ 9,500 10,500 21,000
08 212tel=204d| 7,000 7,000 0
OFX=X gs &80t XN 7,000
11 HARHIXIRZ 2,500 3,500 A1,000
OFN=AEEs s 820t =& 2,500
U2 SN 22(=31) 34,300 35,000 AT00
s 34,300
201 Ler2Ad| 8,000 8,000 0
s 8,000
03 gAr2 G| 8,000 8,000 0
O=2U2 FEXARXIEEs Nzl 8,000
s 8,000
202 odd| 26,300 27,000 AT00
s 26,300
01 =KL 1,300 2,000 AT00
OFAA &= =& 1,300
s 1,300
03 =2/F RN 25,000 25,000 0
0=2 FXsX =& 25,000
s 25,000
AIFWFAAI | S SFIIg 2H(21) 200,000 0 200,000
s 100,000
< 100,000
207 AN 200,000 0 200,000
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A2 ARRRPAE SN BTES YMMLER
3 HEAIREL RIS BTN
Sl SRIKFE HLAISA &2 CERED
U2 2A B O(S) - MRAE - BAS ofl &t i HIDEZ
[ 100,000
= 100,000
01 H2ESHI 200,000 0 200,000
OA=uW=I|2 FAFX BHEd ZAL ES 200,000
= 100,000
S 100,000
SEH0 A =4 8,000 8,000 0
CE-ONEPL 8,000 8,000 0
A= HEAE = 8,000 8,000 0
202 04l 8,000 8,000 0
01 SLHOIHI 8,000 8,000 0
OHeIX7 2l & HEI|= R 8,000
HH2SZH(LLAILR) 21,319 20,659 660
=3 21,319 20,659 660
FNE2E JI=23HI 21,319 20,659 660
201 &gr2E | 12,544 11,884 660
01 AtR2t2ld| 12,544 11,884 660
OFN2E AIR22/H| 12,544
202 04l 5,775 5,775
01 2LHOIHI 5,775 5,775
FA2E U 5,775
203 BR =8| 3,000 3,000
4 EAEZER=AH 3,000 3,000
©1521 Oolat 250,000 * 122 3,000
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